2025 | TARA VR T UF UV IT<RTITVEF>
F3&H 2025/10/1
[B5mULBF v 7 IILR] [35mULEBFLTILX]
Rank K %4 B RA v MG Rank K % i KA v bEEH
19 B B AlM brrE 363 1
2| # W A|TOY'S Tennis Lab 254 1
3(+ 1 B Bl1MbrvE 177 1

(40U BT > 7L X] (40U EBF X 7]

Rank K %4 B RA > MG Rank K % B KA v bEEH

<z#E>|® B #|TOY'S Tennis Lab 692 1 1|5 # & A|TOY'S Tennis Lab 363 1

20 B F AlLETF==2s77 254 1
3B H B LB TxsF7 177 1
A E & E|REET=2Bs 15 1
ATIEH O 8 Z2|¥RIT7 =B 15 1

(45U EBF> v 7L R] (45U EBFLTILX]

Rank K %4 B R4 v MEEH Rank K % B KA v bEEH
168 O R\l|evanacvnr=as7 1062 5 1142 W B BlF—LZ77F 579 3
2| Il B {S[TOY'S Tennis Lab 249 3 2iF B M R|MA M vE 543 2
3|% E B h|vvvur=zs357 227 2 I/ B’k E|fEETC 508 2
AiEA R BZ|79975=22057 24 2 Al B & 24 brveE 448 2
5 B B Z|rror-vr=2s57 15 1 5/ H  #F|lovarr=zrrri- 246 1

6k A =|AbTvE 202 1

<BE>(12 L B BlF—1L7o v F 1648 3 6T(N JIl 7= 2|74 77=2257 202 1

6T|iE4A K B Z|7o4 75722457 202 1
9|3 B B Blevarnrrrrzzssy 30 2

[BOmULEBF> v 7L R] (50U EBFLTILR]

Rank K %4 B A v MEEH Rank K % moB A v MEEH
1|8 ¥ fE X|LET=xs77 1947 5 1|E JIl # m|TOY'S Tennis Lab 2535 6
2|F JII & t5|TOY'S Tennis Lab 1572 6 2|+ 48  f&|Tov's Tennis Lab 1728 4
3()11 ﬁ' inﬁ? $ %rhTA 753 3 3 g A f@ TOY'S Tennis Lab 843 3
4lF M f|ToY'S Tennis Lab 402 2 Ak B B E|lrror-vrzassy 413 1
5|+ 48  #|TOY'S Tennis Lab 255 3 AT|HY & B|rrvr-vr=2s57 413 1
6|F B K BEKRETT=RiBR 192 2 6|8 X B Bt|lLET=xs57 310 1
7NF H H|zwssEdmr=zipe 184 3 6T|E I B K|LET=2057 310 1
8| F—|gFeFr=zs357 183 1 I A & | &ZMTA 278 3
9Nl R HE[EBT =R TT 173 2 8T|F B K BREETT =B 278 3

9T|T 2% # Z|T E AMO/40 173 2 10(& B = Z|AMERT=XBS 205 1
11| 4 A< 84| T -one 155 1 10T|F M sm|essas7=zHs 205 1
RIER)N ER|purvr7=2057 145 1 12|1#%f & s[TOY'S Tennis Lab 143 1
13I/h 8 B2 —|7v¥97=2457 100 1 131%% 78 % f5| T E AMO0/40 18 1
14|F ¥ IE Fl|ERBT=R777 57 4
15|% B R M|AmEss =2 15 1
16|{£ B %X ;B|TOY'S Tennis Lab 1
16T|Re & ZE th[s71vr75=22957 1




[55mULEBF> > 7L X]

(55U EBFL7ILR]

Rank K % B A MREHK Rank K % B RA v HEEH
1| H # F|zvaracor=ass7 917 4 1|1 B % =T E AMO0/40 1154 5
2% M BB &|mera-rr=as97 886 3 2| #E R A NTVE 646 3
3IIKHEE EF|dLTC 413 1 3B X J&|[7rAv—n-FTC 624 3
410 £ ZF BMAEHT=XiBR 324 3 413z f& I|FSA 609 2
5[4 B # ®|TE AMO0/40 281 1 5[ % Z# SAARHT=ZH= 540 3
6| B M Eleviracrarzzrsy 196 1 6|F B IR [evracrirzassy 338 2
710 B E A|TE AMO/40 151 2 IR EE —|Y—onT 202 1
sl F E —|&mTA 18 1 N=F B &Y—2o1LT 30 2
9|t 4 K | T-one 15 1 9|f1 B E A|AEHT=ZHE 18 1

OT| L R 2 L|EBT=Xs77 15 1 10 B %|TEAMO0/40 15 1
11[E & F|evrracr=zssy 9 1 11|EBEMH A &(Zry rezryy 6 1

(60 A EBF> > I IILR] (60U EBFLTILX]

Rank K 4 B RA v MEEHK Rank K % r B RA v EEHK
1|78 Ik & E|evanocvnr=as57 812 3 1|17t R B Elevrrarvrzzss~ 1082 4
2|8 K — F|&RMTA 702 2 20@mE #—|7vv77=2s57 1074 3
3|1 L B fT|ABH T = R e 426 2 2T|H H g|7vyvr=2s57 1074 3
417 £ IE F|rror-vrmzs57 357 2 4t K — F|ERMTA 1020 3
585 K ZFE Rlpwuvirrr=xs57 211 2 585 A& Hlsrenysr-2s57 241 2
6l#F # = E[zvvvr=zs57 57 5 6|% JIIl  Hf|tetetete 143 1
W& B & 2l7vvvr=zs57 42 4 T(# W B AT|ART T = ARR 15 1
8|m g #h—|7vv77=2s57 18 1 8|8 BB & xlvvvvr=zs357 6 1
ol#r B & Zlevarnirirzass~ 15 1

(65U EBF> > I IILX] (65U EBFLTILX]

Rank K % B A v EER Rank K % B RA v HEEH
1k 4 K 8 —|-8574-r57=2557 5645 4 1| Bk & Rlesrorrr=zs57 18 2
2N B F B|r7arrrr=ars7 622 6 218 B |V —o0T 15 1
31 b B |77 rrr=rs57 18 1 2T 3 Z|U—onT 15 1

<zE> | A K B —|-8574-17=2557 48 1

[7T0mAEBF> > L] [7T0BAUEBSFLTILX]

Rank K %4 B A v EER Rank K % Fr B RA v b EEH
1\ 1B & E|z71> 7722057 2288 6 1|8 2 % #|MARS-T 586 2
21# 4 R|EEMT=20757 501 5 2% B —|memEnT=zise 18 1
3|8 FE X {|MARS-T 498 4 2T H  E|s71vr 77220357 18 1




[T5mUEBFL7ILR]

[7T5mULEBEF> > 7L R]
Rank | K 4% T B R v M EEK Rank K % i B KA v bEAEH
117 Il ZF|=vanacvrr=zs57 319 3 1| RKAL R BE|ARGT =2 15 1
2 L R|iEBSU—v 18 1
[80mULEBF> 7 IILR] (80U EBFX T ILX]
Rank | K 4% i R4 v MEEH Rank| K % R KA v bEEH
11T B & BWET=2s77 1924 2




2025 | TARAV RS VIV I<RTFIVLF>
F#*H 2025/10/1

(45U ELF> > 7L R] [45mUELZF LT ILR]
Rank K % Fr B KA v MEEHK Rank K % Fr B RA v MEEHK
1|# & BR F|TOY'S Tennis Lab 363 1

(50 A L&F> > 7] (50U ELZF R T ILR]
Rank K % Fr B KA v MEEHK Rank K % Fr B RA v MEEEK
IV R 8 B\WLET=x077 18 1 1N Il F E|7vyo7=2257 414 3
<z#> |8 |y BF ZE|TOY'S Tennis Lab 474 2 2(# Ly BE ZE|TOY'S Tennis Lab 411 2
3% # & F|HLETC 363 1
TR B & F|L.E.T 363 1
3Tk B & EF[4brvE 363 1
6|& JIl B EMARS-T 263 2
T AERF|7vv77=2s57 30 2

(55U EZF> v LX) (55U EZF XTI R]
Rank K % B KA > MEEK Rank K % i) A v+ EEH
118 #H = &H|5FeF7=2s57 829 3
1IT|BE A& T|574v 7722257 829 3
3| X E #2|FSA 648 4
3T|EE & = #|FSA 648 4
5[/NH ZE AL F|TOY'S Tennis Lab 589 7
6| H # F[TOY'S Tennis Lab 438 4
TNE B  ZHlsvarrs=z7r7i- 414 3
8| T BHANF|FSA 354 2
92 lh v A A|L.E.T 263 2
10|l B & F|rvyrs=zs57 205 1
11| H AXF|l7v977=2277 30 2
2[R Il & E[EAIFTC 6 1
12T|& B % I|MTC 6 1
<> )I| E STAYRTTFZRITT 36 1




(60U LZF 7L X] (60U L& F & T ILX]

Rank K & Fr B A v bEES Rank K % Fr & A v b EES
1B & = FIMARS-T 36 1 11k = # F|dLETC 1393 4

1T EEF|F—LTF TV F 1393 4
3B & ® FIMARS-T 553 6
AME s = FIWET=ZRI77 363 1
57 BB & #|l5rrrvar=xzs57 297 2
6|K K B FlLvirr=zs37 205 1
7NE B’ B F|IMTC 109 2
8| BB BB Flz71vrr7rz=zs357 36 1
9|F B BB F|7v¥757=2437 30 2
10|48 B 54 F|IEEISY —> 15 1
11 & NIl B Fl&AIFTC 6 1

(65U L& F v 7L R] (65U EZF X T ILR]

Rank K % Fr & A v EE# Rank K % Fr & A v EEH
1|fe B & E[771>r77=2257 9 1 1|7 B M SI[AmEST =2s 220 1

1Tk Bk BA E|AMEST=2H2 220 1
3|4 RFER|FSA 15 1

(70U EZF > 7L X] [7T0mAELZF X T ILR]

Rank K # Fr B RA > MEEE Rank K % i A v~ EEH
1A\E SSHF|574v k75722557 2921 4 1\ NI F|574v k7722257 3004 4
208K HDF|571v k7722457 1970 4 2188 K & D F|571v k7722457 522 3
3k B R F|A T UE 1788 4 3IIx B R FlM T vE 364 2
Al £ M FlLET=2277 492 4

(75U EZF > X] (75U ELZF X TILR]

Rank K # Fr B RA > MEEE Rank K % i A v~ EEH
1k BH = F|574vF757=2457 84 2




